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And this one says, I do not know; he is exempt - 2195 P75 519K I8 7725

Overview

The mwn first teaches us that if the ?°Xwn claims 70 7298 and the 122 says IR
¥71, the 121w is 2717 to pay. The 1wn continues that if the 921w claims 707 7715w and
the 2°Xwn says v71 °1X, the 10w is Mwo.! Our MooIn explains why the latter case is
needed, it can be inferred (with a 1"p) from the former case.

Mmoo askes:
= 1Y 992 NIYY 292 99INT AN 299) NI 299 9NN ON)

And if you will say; according to 77''7 and ''9 who maintain that if one litigant is

certain about his claim and the other litigant is uncertain, the 392 claim prevails -
= NONIND 7Y 9927 1IMNYN XY RNYNT 299097 NIN 2519 TII0NN INNN

Why is it necessary the teach in this case here (¥71° *2°X MR 770 7nn 770w) that
the 12 is Mwp; for since in the X" (where Y717 "R 02K 719 7101 72IRY) we were

informed that a 592 prevails to extract money -
- 3991NNYT N9N 19V Y

Certainly here where it is to retain the money that 7>7v 2!

NID0IN answers:
= INIVN 29N 7Y 1927 RYI92 NINT YTOINT 9217 W

And one can say; that since the 71wn teaches us in the Xw> that 7°7y 392 and the

LRI is 29977 -
= INIVYN V9T NIAN M 97 *NOYD ) NN

The mwn teaches us also in the X230 that if it is the opposite (the 72w is *72 and
the 2°Xwn is Xnw) that the PR is w5,

mooIn offers an alternate answer:>
= DNV 9219 DINUNT NNY 19) INIVYT 69921 921y DINWNT 9927 9123 ON

! This is the case mpoIN is referencing in this 2mnnT M7

2 See ‘Thinking it over’

3 We need a stronger claim to be X% than to be P, if X*X17% 77V "2 it is certainly P>mA> 777y,

4 moon is accepting the premise of the question that the X9°0 is superfluous, but nevertheless, the mwn, since it

mentions one side of the coin, it also mentions the other side (for symmetry sake).

5> This answer rejects the premise of the question that we can know the X9°0 from the Xu1 with a w"s.

6 Let us assume the case of o7 798w 01 77Ow. The animal is by the XW; the owner may not aware of what is happening

to the animal. When the 2w claims 7in» 775w 02 he may be lying, since he is not afraid of being contradicted by

the 2°Xwn, since the ?°Xwn is (presumably) not aware when the animal died. This »3, where there is no fear of

contradiction, is considered a ‘weak’ »12. On the other hand when the 9*}wn claims 12 that 7n» 7738w 2173, he knows
1

TosfosInEnglish.com



('R 72m A"7 'on 2,78 »"a 702

Or you may also say; that the 72 of the »8w» is preferred over the 2 of the

bXw and similarly the X% of the »Xw» is preferable’ over the X»w of the HRw -
= N D10 BPYN NIT INIYT 292 1929RT $)339NUND NOYD TP9VYIN 991D)

And therefore it was necessary for the 71wn to teach us the &9°0, to inform us that

even though the 572 of the »Xw (that 7inn 77OW) is not that significant, nevertheless -
$DINUNT RNDVN NOYTY

It is better than the N»w of the 998w (even though it is not that ‘weak”)

Summary
The &9°0 may be written as a counterpart to the X2 or the X9°0 teaches us that even

a ¥173 "2 is stronger than a 21 RAWw.

Thinking it over

1. moo1n asks that the X9°0 is superfluous.’ Perhaps the X5°0 is teaching us that the
"OW is completely M9 and is not even required to swear, even though a 9173
Ay

2. Seemingly moon second answer is much ‘stronger’ than the first answer; why is
it placed second?

3. MBI question is on 7T 27 X117 27; does the same question (why we need the
X9°0) apply also on 131 " 1111 27 who maintain 5°7Y 992 WD XA "3, but RoXwAT
ORI 1YY 1ann?

that he can be contradicted by the 2w, and nevertheless he claims 12 that 7nn A2WRw 013; this is a ‘strong’ "M2.
7 When the 9°Xwn says he is unsure of when the animal died, it does not show any weakness to his claim; he was not
there so how can he know. The %, on the other hand, is expected to know when the animal died; he was working
with it, so when he claims X»w we are suspect of his ignorance; he may be not forthcoming.
8 If the mwn would only teach us the Xu™1 (where Y79 PR 2R 721 Ann 7918W), we might have assumed that only in
the Xw> do we say 7°7¥ 12 RxWY 2 even R*X117), since the 12 of the 2w is strong (see footnote # 6) and the Rnw of
the 2°Xwn is weak (see footnote # 7); however in the X9°0 where the >3 of the 12w is weak (footnote # 6) and the Xnw
of the 2°Xwn is strong (footnote # 7), in such a case perhaps we do not say 7°7¥ "2 (even if it is p*177777),[but rather we
should perhaps say y,2m°]. Therefore the 7awn teaches us that even by a 21 Xnw1 ¥113 72 we still maintain 7279 >72 (at
least p1177).
% See footnote # 2.
10'See vy *19 and w"w.
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